$$\frac{\lfloor \operatorname{chine} 13}{2} = \mathbb{Z} \operatorname{assen have } \operatorname{Lemma}, \operatorname{Jirdan-Hölder Series}^{USO}$$

$$\frac{\lfloor \operatorname{chine} 13}{2} = \mathbb{Z} \operatorname{assen have } \lfloor \operatorname{comma}, \operatorname{Jirdan-Hölder Series}^{USO}$$

$$\frac{\lfloor \operatorname{chine} 13}{2} = \mathbb{Z} \operatorname{assen have } \operatorname{G} 13 = \mathbb{Z} \operatorname{assen hove } 13 = \mathbb{Z} \operatorname{$$

STEP 1 (H'nK) · (K'nH)
$$\lhd$$
 HnK (III)
This is the because H'AH so H'nK \triangleleft HnK $\biggrarrow B_{3} 3^{cl}$ Iso
K'AK so K'nH \triangleleft HnK $\biggrarrow HnK$.
But $g(H'nK)$ (K'nH) \lt HnK (are H'nK \lhd HnK, K'nH \lt HnK.
But $g(H'nK)$ K'nH $g'' = gH'nK)g''g(K'nH)g'' = (H'nK)K'nH) for gethk
so (H'nK) (K'nH) \lhd HnK.
STEP 2: H'(HnK') \lhd H'(HnK)
This fillows from a mire yourcal statement:
Lemma. If g is a group, $G_{1} < g$, $N < 1$, $g \neq G_{2} < G_{1}$,
Hun $N \cdot G_{2} < N \cdot G_{1}$
 $3F/G_{2}N < N \cdot G_{2} < g \neq G = G N = NG_{1} < g$ by 3^{cd} Iso usephism Thue.
Thus $z \cdot g_{1} + n' g > g_{1} + n + g_{2} < g_{2} \times g_{1} + g_{1} = (g_{1} + g_{1}) \cdot g_{1} + g_{2} < g_{2}$.
 $\Rightarrow X \in N \cdot N \cdot G_{2} < g \neq G = N \cdot N \cdot G_{2} = N \cdot g < g < G = G_{1} = T \cdot (G_{1})$
 $Restrict The G_{1} = g_{1} + n + g_{2} < N \cdot g_{2} = T \cdot (G_{2})$
 $is a wormal subgroup of G = (because This mughtime).$
New, consider the homomorphism defined by:
 $G_{1} \cdot N \longrightarrow g = -g_{1}/N$
 $K : G_{1} N \longrightarrow g = -g_{1}/N$
 $K : G_{2} N \longrightarrow g = -g_{1}/N$
Thus $z - g = -g_{1}/N$ is the innex subgroup of a vortual subgroup
hence wormal.
Thus STEP 2. pollows b_{1} backing $g = H$, $N = H'$, $G_{1} = H \cap K$, $G_{2} = HnK'$.$

STEP 3: Use the 3nd Ismurphism Theorem:

$$\frac{H'(H\cap K)}{H'(H\cap K')} \simeq \frac{H\cap K}{(H\cap K)\cap (H'(H\cap K'))} \begin{cases} N = H'(H\cap K') \triangleleft H \\ H = H\cap K \end{cases}$$

$$\frac{(Laim:}{H'(H\cap K)} (H\cap K) \cap (H'(H\cap K')) = (H' \cap K) \cdot (K'\cap H)$$

$$\frac{(Laim:}{H'(H\cap K)} (K'\cap H) = (H\cap K) \cap (H' (H\cap K')) = (H' \cap K) \cdot (K'\cap H)$$

$$\frac{St}{(H'\cap K)} (K'\cap H) = (H\cap K) \cap (H' (H\cap K')) = (H' \cap K) \cdot (K'\cap H)$$

$$\frac{St}{(H'\cap K)} (K'\cap H) = (H\cap K) \cap (H\cap K) = H\cap K$$

$$\frac{St}{(H\cap K)} = L' \in (H\cap K) \cdot (H\cap K') \cap (H\cap K) = H\cap K$$

$$\frac{St}{(H\cap K)} = L' \cap (H\cap K) = H' \cap K$$

$$\frac{St}{(H\cap K)} = H = K - H' \in K' , conclined with the leave we get = \frac{K'(H\cap K)}{K'(H\cap K')} = \frac{H\cap K}{H'(H\cap K')}$$

$$\frac{St}{(H\cap K')} = \frac{H\cap K}{(H\cap K')} (K\cap H') = \frac{H'(H\cap K)}{H'(H\cap K')} =$$

$$\frac{St}{(H\cap K')} = \frac{St}{(H\cap K)} = \frac{S}{(H \cap K)} = \frac{S}{(H \cap K')} = \frac{S}{(H \cap K')}$$

(ii) There is no strictly decreasing emposition series distinct from Σ and finer than Σ .

Supportion: A composition series ∑ of G is Jordan -Hölder (or JH for short) if and only if en i (G) is simple for all i=0,...,n-1.
(Recall: 3et is not simple; G is simple if H=G => H=3et or G)
Supply: Note that a composition series is structly decreasing if and may if none of its associated quotients is 3et.

Let $\Sigma : G = G_0 \not\supseteq G_1 \not\supseteq \cdots \not\supseteq G_n = 3e_1$ be a strictly decreasing errors composition series that is not JH. Then, there exists a strictly decreasing series Σ' finer than Σ . Thes, we can find i=0, ..., n-1 where $G_{2i+1} \not\supseteq G_i$ are \underline{nn} consecutive in Σ' . That is, there exist intermediary normal subgroups: $G_{i+1} \not\supseteq H_k \not\supseteq \cdots H_2 \not\supseteq H_1 \not\supseteq G_i$

In particular, Giti ⊲ H, since Giti ⊲ Gi & Giti < H, <G. Hence, H, is a nontrinial normal subgroup of Gi, so gril(G) is not simple.

Conversely, assume $\Sigma: G = G_0 \not\supseteq \cdots \not\supseteq G_n = 3ef$ is a strictly decreasing composition series, one of whose graded pieces, say $G_i'_{G_i+1}$ is not aimple. By the second Isomorphism Theorem, a proper, numbring normal subgroup of $G_i'_{G_i'_1}$ is of the form H'_{G_i+1} for some intermediate normal subgroup $G_{i+1} \prec H \lhd G_i$. Thus, $G_{i+1} \not\supseteq H \not\supseteq G_{i+1}$ (in clucle: $\Sigma': G = G_0 \supseteq G_1 \supseteq \cdots \supseteq G_i \supseteq H \supseteq G_{i+1} \supseteq \cdots \supseteq G_n = 1ef$ is from than Σ , so Σ is not J-H.

However, every finite group & has a Jordan -Hölder (By induction on [G]) Nore precisely, pick H, maximal among all proper, normal subproups of G, eccursively let H_{n+1} be maximal among proper normal subgroups of Hn. Thes procedure must halt (in, at most, IGI steps), thus forming a JH series)

Thiorem (Jordan - Hölder) Two Jordan - Hölder series of a group & are equivalent. Broof: Let Z, Zz be two JH series of G. By Schrier's Thm, we can refine them to Z' & Z' where Z' & Z' are equivalent.

As $\Sigma_1(and \Sigma_2)$ is JH, $\Sigma'_1(and \Sigma'_2)$ is either identical to $\Sigma_1(nep \Sigma_2)$ or it is obtained from Z, (resp. Zz) by refeating some terms. As the series of quotients of E', & E' differ mly in the order of the maded pieces, after removing all trivial quotients, the same is true for Z, & Zz $\frac{E_{X}}{E_{2}}, G = \frac{2}{62}, \qquad Z_{1} : \frac{2}{62}, \qquad Z_{2} : \frac{2}{32}, \qquad Z_{2} : \frac{2$ 24 E2: 2/62 7 2/22 7 3eg JH maded pieces: $y_{0}^{\xi_{1}}(G) = \frac{2}{22} = y_{1}^{\xi_{2}}(G)$ $\gamma_1^{\Sigma_1}(G) = \mathbb{Z}_{3\mathbb{Z}} = \gamma_0^{\Sigma_2}(G)$ Corollary: Let G be a noup that admits a 5H series. If E is any strictly decreasing comprition sinces of G, then there exists a JH series relining E. Skitch of a proof. Let Zo Lea J-H mies of G. By Schnier's Thm, we can find Z' & Z' Two equivalent composition series refining Zo & Z, resp. The proof of JH Thurem ensures that Zo' is JH & so Z' is also JH. Example 1: G = Z/k, k>1 praded places for JH = Z/2. = <g> (simple a order 1/k) PZ. $\sum G = G_0 \supseteq G_1 = \frac{2}{p^{k-1}Z} \supseteq G_2 = \frac{2}{p^{k-2}Z} \supseteq \dots \supseteq G_k = \frac{2}{p^{k-2}Z} \ge 0$ is $\sum G_1 = \frac{2}{p^{k-1}Z} \supseteq G_2 = \frac{2}{p^{k-2}Z} \supseteq \dots \supseteq G_k = \frac{2}{p^{k-2}Z} \ge 0$ Example 2. G = 2/nZe How To build a JH suis for G? . If n is prime, G is simple so G = 3es is JH $\Rightarrow G = \frac{2}{p_1} \times \frac{2}{p_1} = \frac{2}{p_1} \times \left(\frac{2}{p_2} \times \frac{2}{p_1}\right) = \cdots$ = 2/a, 2 × ···· × 2/a 2

=)
$$G = G_0 = G_1 := \frac{2}{n} \ge G_2 := \frac{2}{n} \ge \cdots \ge G_1 := \frac{2}{n} \ge G_2 = \frac{2}{n}$$

comp series with graded pieces = p -groups.
We can refine each $G_2 := \frac{2}{n} \ge G_{i+1} = \frac{2}{n}$
by lifting a 5H series of $\frac{2}{n} = \frac{2}{n}$ (use Example 1)